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QUESTION 1

Which relationship must be established with an external system or a service provider before creating bill determinants? 

A. Usage Transaction 

B. Usage Rule 

C. Usage Subscription 

D. Usage Factor 

Correct Answer: C 

Reference: https://docs.oracle.com/cd/E41155_03/library/CCB-MDM_Implementation_Guide_v12.1.pdf 

 

QUESTION 2

Which option correctly describes the high-level process from loading measurements through calculating usage? 

A. 1. Load Initial Measurements 

2.

 Validate, edit, and estimate Initial Measurements 

3.

 Create Final Measurements 

4.

 Update Initial Measurements 

B. 1. Load Initial Measurements 

2.

 Verify, evaluate, and enter Initial Measurements 

3.

 Create Final Measurements 

4.

 Calculate Usage 

C. 1. Load Initial Measurements 

2.

 Validate, evaluate, and estimate Initial Measurements 
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3.

 Update Initial Measurements 

4.

 Calculate Usage 

D. 1. Load Initial Measurements 

2.

 Validate, edit, and estimate Initial Measurements 

3.

 Create Final Measurements 

4.

 Calculate Usage 

Correct Answer: B 

 

QUESTION 3

Your client has installed scalar devices to measure the solar energy generated (Export) and the energy received
(Import) from the National Grid. This data is stored in separate measuring components (registers). 

The validation rules are generally the same for both measuring components, but there is one exception. The Negative
Consumption check applies only to energy received (import). Which two are possible configurations resulting in the
Negative Consumption rule being checked for energy received (import) only? (Choose two.) 

A. Modify the base VEE rule. 

B. Remove the Negative Consumption check from the VEE group. 

C. Create two different VEE groups. 

D. Use Eligibility Criteria. 

E. Use the Skip Flag in the VEE rule. 

Correct Answer: CD 

 

QUESTION 4

Which four statements correctly describe what a Service Agreement Type controls? (Choose four.) 

A. It controls the Late Payment Charge Calculation Method. 

B. It controls the Service Type to be billed. 
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C. It controls the valid Rates that can be applied to the service agreement type. 

D. It controls debt age. 

E. It controls where the bill is to be sent. 

Correct Answer: ABCD 

 

QUESTION 5

The base package usage transaction business object is represented by D2-UsageTransaction. The usage calculation
engine or process drives the specifics of the usage to be calculated on this business object. 

Based on this, which three configuration areas will have an impact on the usage calculation process? (Choose three.) 

A. VEE rule 

B. TOU map 

C. Usage Rule 

D. Factor Override 

Correct Answer: BCD 

Reference: https://docs.oracle.com/cd/E38983_04/PDF/MDM_Configuration_Guide_v2_1_0_3.pdf 
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